CALLT — MioT — Solutions

Q1]...[13 points] Write down a limit definition of f'(2) where f(z) = z®. Also write down (in words)
two interpretations of f'(2).
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Compute the limit that you have written down above (that is compute f’(2)). Show all your work carefully.
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Write down the equation of the tangent line to the graph y = 23 at the point (2, 8).
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Q2]. .. [12 points] Write down the values of the following two limits (you do not have to give proofs).
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Write out the angle addition formula for the cosine function.
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Prove that the cosine function cos(z) is continuous at the input point a.
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Q3)...

[12 points] Find the values of the numbers a and b which make the functions below continuous

2z +a ifz>1
) = |
somrs fesd fo

]
f,\:\\a- (F(x}} = ,)\_,_ (2"*“\) = 2(NV+a = \’@
(&Dﬂ) Liow (x" 1x+‘5) = |* -2M\+§ = \g
X-—?\

X217

\ v ] 6( e wad \
fn contiondlly wee went Lisn () tv 2pisk (, s £)
>) PN ot ox2  abive te ogree |

= 4 =2+ =) 1:-0\3

\ _ 2 )
L\ _ Loy (Xa-—? _ G/LYK-FZK +5“)
Xgl(g(%B) )(—9'2.

— L‘\N\ <X1"5" 2X +I+.)

X

— 2}V +¢ = I)ZS

,
g = ) < ____—




Q4]. .. [13 points] Compute the following limits.
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